Math 001-44, Quiz4 (1.2,1.4and 1.6), Term 131, Instructor: Sayed Omar Pagel 15-Nov-13
SN ID NAME
Show all necessary steps for full marks.

Question 1: (6 points): I the length of a rectangle is 6 cm more than the width and the perimeter of
the rectangle is 60 cm. then find the length and the width of the rectangle.

Solution: L=w +6
P=2W +6)+2w
P=2w +12+2w
60 =4w +12
15=w +3
w =12 cm
L=w+6=18cm

Question 2: (6 points): Solve (3x +2)(x —1)=3x
Solution: 3x%—x —2=3x
3xt —4x-2=0
Let a=3,h=—4,and c=-2. 4416424 4+4J40
2 - 6 6
—b+~b* - dac
= > « 44210 210
{ = =

. AV —4(3) (=2 6 3
= _(_4}i\/( ;i)?‘) 4(h ){ “) Solution set: {Ei""ﬁ}

3
Question 3: (6 points): If the equation (3x —4)(x +1)=-2 is written in the

form (x +m)2:n,thenfind m+n="2?

X

Solution:
X% +3X —4X —4=-2
3X2-x =2
w2 1,2
3 3
, 1 (1 1}2 2 (1)2
XZP=ZX +| =2 | ==+|=
3 2 3 3 \6
, 1 (1)2 2 1
X=X +| = | ==+—
3 6 3 36
( —1)2 2(12) 1
X +— | =——Z+—
6) 3(12) 36
2
(x +_—1J :é is in the form (x +m)*=n where m:_—1 and n:§.
6 36 36

1 25 —-6+25 19
m+n=—=4+—"= =

6 36 36 36
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Question 4: (7 points): (1.6 Exercise 52): Solve v2x -5 =2+/x -2

Solution:
Check x =3.

N2x—=5=2++/x-2

N2x-5=2+Jx-2 \/méum

=\ 2 Jo-5=2+1
(V2x=5) =(2++x-2) ﬁ«ﬁzzuznz:%

2x=5=4+4yx-2 J‘(-*_QJ This is a false statement. 3 is not a solution.
2x—S5=x+2+4+4jx-2 Check x =27.
x—T=4dafx-2 2x—5=2+4/27-2

(,x-—?)zz(ai\/E)z 2(27)-522+27-2

¥ —14x+49=16(x-2) 54-5=2+425
X2 —14x+49=16x-32 19 =2+5=7=7

¥ —30x+81=0= (,x' — 3}(,;‘- _ 2?) = () - This is a true statement. 27 is a solution.

x=3orx=27 Solution set: {27}
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